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4 1103 |=VLOOKUP(B4,$H$4:$1$9,2,FALSE) =VLOOKUP(B4,$H%$4:$J$9,3,FALSE)
51101 |=VLOOKUP(B5,$H$4:$1$9,2,FALSE) =VLOOKUP(B5,$H$4:$)$9,3,FALSE)

6| (102 |=VLOOKUP(B6,$H$4:$1$9,2,FALSE) =VLOOKUP(B6,$H$4:$)$9,3,FALSE)
711105 |=VLOOKUP(B7,$H$4:$1$9,2,FALSE) =VLOOKUP(B7,$H%$4:$)$9,3,FALSE)

8 |104 |=VLOOKUP(B8,$H$4:$1$9,2,FALSE) =VLOOKUP(B8,$H$4:$)$9,3,FALSE)

9 |(101 |=VLOOKUP(B9,$H$4:$1$9,2,FALSE) =VLOOKUP(B9,$H$4:$)$9,3,FALSE)

10| [100 |=VLOOKUP(B10,$H$4:$1$9,2,FALSE) =VLOOKUP(B10,$H$4:$J$9,3,FALSE)
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7 |2 —D7*E7 103 e 248
8 |4 —D8*E8 104 |F¥~Y 178
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11|=SUM(E4:E10) |=SUM(F4:F10)
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